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1. The administrative expenses shall not exceed ___ of 
the total revenue income of the Corporation: 
(A) 10% (B) 15% 
(C) 20% (D) 25% 

1. iz”kklfud O;; fuxe dh dqy jktLo vk; ds---------------ls c<+dj 
ugha gksaxsA 

(A) 10% (B) 15% 
(C) 20% (D) 25% 

2. The member of the ESI Corporation shall cease to be a 
member of the body if he fails to attend ___ 
consecutive meetings thereof: 
(A) Three (B) Four 
(C) Five (D) Six 

2. bZ,lvkbZ fuxe dk lnL; fudk; dk lnL; ugha jgsxk] ;fn og 
fuxe dh yxkrkj----------cSBdksa esa Hkkx ugha ysrk gSA 
(A) rhu (B) pkj 
(C) ikap (D) N% 

3. Temporary Disablement Benefit is not payable for an 
employment injury resulting in incapacity for less than 
__ days: 
(A) 3 (B) 4 
(C) 5 (D) 6 

3. ,slh jkstxkj pksV ds ekeys esa ftlds QyLo:i----------ls de fnu 
dh vleFkZrk gksrh gS vLFkk;h vaxgkfu ykHk ns; ugha gksrkA 

(A) 3 (B) 4 
(C) 5 (D) 6 

4. The claim for maternity benefit for miscarriage shall have 
to be made within ___ days of the date of miscarriage: 
(A) 20 (B) 25 
(C) 30 (D) 15 

4. xHkZlzko ds fy, ekr`ykHk laca/kh nkok xHkZlzko dh rkjh[k ls ---------- 
fnu ds Hkhrj fd;k tkuk gksxkA 

(A) 20 (B) 25 
(C) 30 (D) 15 

5. As per the ESI Act, in which of the following bodies 
there is a provision of Co-Chairman? 
(A) ESI Corporation 
(B) Standing Committee 
(C) Medical Benefit Council 
(D) There is no such provision 

5. bZ,lvkbZ vf/kfu;e ds vuqlkj fuEu esa ls dkSuls fudk; esa 
lg&v/;{k dk izko/kku gS\ 
(A) bZ,lvkbZ fuxe 
(B) LFkk;h lfefr 
(C) fpfdRlk ykHk ifj’kn 
(D) ,slk dksbZ izko/kku ugha gS 

6. A person who sustains temporary disablement for not 
less than ___ days shall be entitled to periodical 
payment as Temporary Disablement Benefit: 
(A) A. 3 (B) B. 5 
(C) C. 6 (D) D. 7 

6. ,slk O;fDr tks de ls de-------------fnu dh vLFkk;h vaxgkfu ls 
izHkkfor gksrk gS] og vLFkk;h vaxgkfu ykHk ds :i esa vkof/kd 
Hkqxrku dk ik= gksxkA 

(A) 3 (B) 5 
(C) 6 (D) 7 

7. Under the ESI Act, simple interest at the rate of __ per 
annum is charged on contributions due but not paid: 
(A) 8% (B) 10% 
(C) 12% (D) 14% 

7. ESI vf/kfu;e ds v/khu tks va”knku ns; gS fdarq ftldk Hkqxrku ugha 
fd;k x;k ml ij ----- okf’kZd nj ls lk/kkj.k C;kt olwyk tkrk gSA 

(A) 8% (B) 10% 
(C) 12% (D) 14% 

8. The term of office of the Chairman as member of the 
Standing Committee is ________: 
(A) One year 
(B) Two years 
(C) Three years 
(D) During the pleasure of the Central Government 

8. LFkk;h lfefr ds lnL; ds :i esa v/;{k ds in dk dk;Zdky ------- 
gksrk gSA 
(A) ,d o’kZ 
(B) nks o’kZ 
(C) rhu o’kZ 
(D) dsUnzh; ljdkj dh bPNk ds nkSjku 

9. Temporary Disablement Benefit rate is equivalent to 
about __ percent of the average daily wage: 
(A) 50 (B) 75 
(C) 100 (D) 150 

9. vLFkk;h vaxgkfu ykHk vkSlr nSfud etnwjh ds yxHkx-----------
izfr”kr ds cjkcj gksrk gSA 

(A) 50 (B) 75 
(C) 100 (D) 150 

10. The employer in respect of a factory or an 
establishment to which the Act applies for the first 
time shall have to furnish Employers’ Registration 
Form within ____ after the Act becomes applicable: 
(A) 10 days (B) 15 days 
(C) 20 days (D) 1 month 

10. fdlh ,slh QSDVªh vFkok LFkkiuk ds fu;ksDrk dks] ftlds ekeys esa 
vf/kfu;e igyh ckj ykxw gksrk gS vf/kfu;e ds ykxw gksus ds ckn ---
---- ds Hkhrj fu;ksDrk iathdj.k QkeZ izLrqr djuk gksxkA 
(A) 10 fnu (B) 15 fnu 
(C) 20 fnu (D) 1 eghuk 
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11. The term of office of a member of Standing Committee 
representing employees is ___ years: 
(A) One (B) Two 
(C) Three (D) Four 

11. LFkk;h lfefr esa deZpkfj;ksa dk izfrfuf/kRo djus okys lnL; dk 
dk;Zdky---------o’kZ gSA 
(A) ,d (B) nks 
(C) rhu (D) pkj 

12. Maternity Benefit in case of miscarriage is payable for 
a maximum period of ___ weeks: 
(A) 6 (B) 8 
(C) 10 (D) 12 

12. xHkZlzko ds ekeys esa ekr` ykHk vf/kd ls vf/kd---------lIrkg ds 
fy, ns; gksrk gSA 

(A) 6 (B) 8 
(C) 10 (D) 12 

13. For the contribution period of 1st October to 31st 
March corresponding benefit period will be ______: 
(A) 1st January of the year following to 30th June 
(B) 1st April to 30th September 
(C) 1st July of the current year to 31st December 
(D) 1st October of the current year to 31st March of the 

following year 

13. 1 vDrwcj ls 31 ekpZ rd dh va”knku vof/k ds ekeys esa rnuq:ih 
ykHk vof/k-------gksxhA 
(A) vkxkeh o’kZ dh igyh tuojh ls 30 twu rd 
(B) igyh vizSy ls 30 flracj rd 
(C) pkyw o’kZ dh igyh tqykbZ ls 31 fnlacj rd 
(D) pkyw o’kZ dh igyh vDrwcj ls vkxkeh o’kZ dh 31 ekpZ rd 

14. The number of member(s) from the Parliament in the 
Standing Committee of the Corporation is ___: 
(A) One 
(B) Two 
(C) Three 
(D) No representative is there from the Parliament 

14. fuxe dh LFkk;h lfefr esa laln ds lnL; ¼lnL;ksa½ dh la[;k------
gksrh gSA 
(A) ,d 
(B) nks 
(C) rhu 
(D) laln dk dksbZ izfrfuf/k ugha gksrk 

15. Standard Benefit rates are ___ the average daily 
wages: 
(A) Half (B) Equal to 
(C) 1.5 times (D) Double 

15. ekud ykHk njsa vkSlr nSfud etnwjh dh----------gksrh gSA 
(A) vk/kh (B) ds cjkcj 
(C) 1.5 xquk (D) nqxquh 

16. Benefit Period is of ____ months duration: 
(A) 3 (B) 6 
(C) 9 (D) 12 

16. ykHk vof/k----------eghus dh gksrh gSA 

(A) 3 (B) 6 
(C) 9 (D) 12 

17. The term of office of the person representing the 
Union Territories as member of ESI Corporation is 
_____: 
(A) During the pleasure of the Government appointing them 
(B) One year 
(C) Two years 
(D) Four years 

17. bZ,lvkbZ fuxe ds lnL; ds :i esa la?k jkT; {ks=ksa dk izfrfuf/kRo 
djus okys O;fDr dk dk;Zdky-------gksrk gSA 
(A) mls fu;qDr djus okyh ljdkj dh bPNk ds nkSjku 
(B) ,d o’kZ 
(C) nks o’kZ 
(D) pkj o’kZ 

18. Maternity Benefit rate is ___ the Standard Benefit rate: 
(A) Half (B) Equal 
(C) Double (D) 1.5 times 

18. ekr` ykHk nj] ekud ykHk nj dh----------gksrh gSA 
(A) vk/kh (B) ds cjkcj 
(C) nqxquh (D) 1.5 xquk 

19. The income of dependant parents for eligibility to 
medical benefit from all sources should not exceed 
_____ a month: 
(A) Rs.3000/- (B) Rs.4000/- 
(C) Rs.5000/- (D) Rs.6000/- 

19. fpfdRlk ykHk dh gdnkjh ds iz;kstu ls vkfJr ekrk&firk dh lHkh 
lzksrksa ls vk;---------ekfld ls vf/kd ugha gksuh pkfg,A 
(A) #i, 3000/- (B) #i, 4000/- 
(C) #i, 5000/- (D) #i, 6000/- 

20. The term of office of the Chairman as member of ESI 
Corporation is ________: 
(A) During the pleasure of the Government appointing them 
(B) One year 
(C) Two years 
(D) Four years 

20. bZ,lvkbZ fuxe ds lnL; ds :i esa v/;{k ds in dk dk;Zdky------
----gksrk gSA 
(A) mls fu;qDr djus okyh ljdkj dh bPNk ds nkSjku 
(B) ,d o’kZ 
(C) nks o’kZ 
(D) pkj o’kZ 
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21. The maximum duration of Sickness Benefit is ___ 
days in two consecutive benefit periods: 
(A) 78 (B) 90 
(C) 91 (D) 92 

21. nks Øfed ykHk vof/k;ksa essa #X.krk ykHk dh vf/kdre vof/k---------
fnu gksrh gSA 

(A) 78 (B) 90 
(C) 91 (D) 92 

22. In respect of an employee who is a person with 
disability under the Persons With Disabilities (Equal 
Protection of Rights and Full Participation) Act 1995 (1 
of 1996), the wage limit for coverage of an employee is 
____ a month: 
(A) Rs.10000/- (B) Rs.15000/- 
(C) Rs.25000/- (D) Rs.30000/- 

22. ,sls deZpkjh ds ekeys esa] tksfd fu%”kDrrk ls ;qDr O;fDr;ksa 
¼vf/kdkjksa dh leku lqj{kk vkSj iw.kZ lgHkkfxrk½ vf/kfu;e] 1995 
(1996 dk 1½ ds v/khu ,d O;fDr gS mlds “kkfey fd, tkus ds 
fy, etnwjh lhek--------izfrekg gSA 
(A) #i, 10000/- (B) #i, 15000/- 
(C) #i, 25000/- (D) #i, 30000/- 

23. The persons representing Employers & Employees in 
ESIC are appointed by ______: 
(A) Central Government 
(B) State Governments 
(C) Employers & Employees Federation 
(D) Director General, ESIC 

23. bZ,lvkbZlh esa fu;ksDrkvksa vkSj deZpkfj;ksa dk izfrfuf/kRo djus okys 
O;fDr;ksa dh fu;qfDr--------}kjk dh tkrh gSA 
(A) dsUnzh; ljdkj 
(B) jkT; ljdkj 
(C) fu;ksDrk vkSj deZpkjh la?k 
(D) egkfuns”kd] bZ,lvkbZlh 

24. To qualify for Sickness Benefit, contribution should 
have been paid for at least ____ in a relevant 
contribution period: 
(A) 91 days (B) 78 days 
(C) 75 days (D) 80 days 

24. #X.krk ykHk dk ik= cuus ds fy, ;g t:jh gS fd laxr va”knku 
vof/k esa de ls de-------fnuksa ds va”knku dk Hkqxrku fd;k x;k 
gksA 
(A) 91 fnu (B) 78 fnu 
(C) 75 fnu (D) 80 fnu 

25. A quorum of at least __ members should be present in 
the meeting of the Corporation to transact any business: 
(A) 5 (B) 7 
(C) 15 (D) 18 

25. fuxe dh cSBd esa dksbZ Hkh dk;Z lapkfyr djus ds fy, de ls de--
--------lnL;ksa dh x.kiwfrZ cSBd esa mifLFkr gksuh pkfg,A 

(A) 5 (B) 7 
(C) 15 (D) 18 

26. Who is the ex-officio member of ESI Corporation? 
(A) Union Labour Minister (B) State Labour Minister 
(C) Union Labour Secretary (D) Director General, ESIC 

26. dkSu bZ,lvkbZ fuxe dk insu lnL; gksrk gS\ 
(A) dsUnzh; Je ea=h (B) jkT; Je ea=h 
(C) dsUnzh; Je lfpo (D) egkfuns”kd] bZ,lvkbZlh 

27. Which of the following cannot be termed as 
Disablement Question? 
Any question ____: 

(A) Whether the extent of loss of earning capacity can be 
assessed provisionally or finally 

(B) Whether the assessment of the proportion of the loss 
of earning capacity is provisional or final 

(C) Whether the injury occurred to an insured person is 
during the course of employment or otherwise 

(D) In the case of provisional assessment, as to the 
period for which such assessment shall hold good 

27. fuEu esa ls fdlh vaxgkfu iz”u ugha dgk tk ldrk\ 
dksbZ iz”u----% 
(A) D;k vtZu {kerk dh {kfr dh ek=k dk vuafre vFkok vafre 

:i ls vkdyu fd;k tk ldrk gS 
(B) D;k vtZu {kerk dh {kfr ds vuqikr dk vkdyu vuafre gS 

vFkok vafre 
(C) D;k chekd`r O;fDr dks yxh pksV jkstxkj ds nkSjku yxh Fkh ;k 

vU;Fkk 
(D) vuafre vkdyu ds ekeys esa] vof/k ftlds fy, ;g vkdyu 

izHkkoh gksxk 

28. The minimum number of meetings of the Corporation 
in a year is __: 
(A) One (B) Two 
(C) Three (D) Four 

28. o’kZ esa fuxe dh cSBdksa dh U;wure la[;k----------gSA 
(A) ,d (B) nks 
(C) rhu (D) pkj 

29. Every factory or establishment to which ESI Act 
applies shall apply for registration of the factory or 
establishment within ___ days after the Act becomes 
applicable: 
(A) 10 (B) 15 
(C) 20 (D) 30 

29. ,slh izR;sd QSDVªh vFkok izfr’Bku ftl ij bZ,lvkbZ vf/kfu;e ykxw 
gksrk gS] vf/kfu;e ykxw gks tkus ds ckn----------fnuksa ds Hkhrj 
QSDVªh vFkok izfr’Bku ds iathdj.k ds fy, vkosnu djsxkA 

(A) 10 (B) 15 
(C) 20 (D) 30 
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30. The list of injuries deemed to result in Permanent Partial 
Disablement is mentioned in the ____ of the ESI Act: 
(A) First Schedule (B) Second Schedule Part I 
(C) Second Schedule Part II (D) Third Schedule 

30. ftu pksVksa ds QyLo:i LFkk;h vkaf”kd vaxgkfu eku yh tkrh gS] 
mudh lwph bZ,lvkbZ vf/kfu;e dh-----------esa mfYyf[kr gSA 
(A) igyh vuqlwph (B) nwljh vuqlwph Hkkx I 
(C) nwljh vuqlwph Hkkx II (D) rhljh vuqlwph 

31. The minimum number of meetings of the Medical 
Benefit Council in a year is __: 
(A) One (B) Two 
(C) Three (D) Four 

31. o’kZ esa gksus okyh fpfdRlk ykHk ifj’kn dh cSBdksa dh U;wure la[;k--
----------gSA 
(A) ,d (B) nks 
(C) rhu (D) pkj 

32. Which of the following is / are covered under the 
definition of Principal Employer in a factory? 
I. Owner of a factory 
II. Occupier of a factory 
III. Legal representative of deceased owner 
IV. Manager of a factory as under the Factories Act 1948 
(A) (I) & (II) only (B) (I) & (III) only 
(C) (II) only (D) All of the above 

32. fdlh QSDVªh esa fuEu esa ls dkSu iz/kku fu;ksDrk dh ifjHkk’kk ds v/khu 
“kkfey gS\ 
I. QSDVªh dk ekfyd 
II. QSDVªh dk dCtk/kkjh 
III. e`r ekfyd dk dkuwuh izfrfuf/k 
IV. QSDVªh vf/kfu;e] 1948 dh Hkkafr QSDVªh dk izca/kd 
(A) dsoy (I) rFkk (II) (B) dsoy (I) rFkk (III) 
(C) dsoy (II) (D) mi;qZDr lHkh 

33. The claim for funeral expenses shall have to be made 
within ____ of the death of the insured person: 
(A) 15 days (B) One month 
(C) Two months (D) Three months 

33. vaR;sf’V O;; laca/kh nkok chekd`r O;fDr dh e`R;q ds----------fnu ds 
Hkhrj fd;k tkuk gksxkA 
(A) 15 fnu (B) ,d eghuk 
(C) nks eghus (D) rhu eghus 

34. The application for renewal of exemption of a factory 
or establishment from the operation of the ESI Act is 
to be made ___ months before the date of expiry of 
the exemption period: 
(A) 2 (B) 3 
(C) 4 (D) 6 

34. fdlh QSDVªh vFkok izfr’Bku dh bZ,lvkbZ vf/kfu;e izpkyu ls NwV 
ds uohdj.k ds fy, vkosnu] NwV vof/k chr tkus dh rkjh[k ls-----
-------eghus iwoZ fd;k tkuk gksxkA 

(A) 2 (B) 3 
(C) 4 (D) 6 

35. Under the ESI Act, ‘Insurable Employment’ means _____: 
(A) An employment in a factory or establishment to which 

ESI Act applies 
(B) An employment in which the employees are provided 

with life insurance cover 
(C) An employment in which the employees are provided 

with medical facilities 
(D) All of the above 

35. ESI vf/kfu;e ds v/khu ^chek;ksX; jkstxkj* dk vk”k; ----- ls gSA 
(A) ,slh QSDVªh vFkok izfr’Bku esa jkstxkj ftl ij bZ,lvkbZ 

vf/kfu;e ykxw gksrk gS 
(B) ,slk jkstxkj ftlesa deZpkfj;ksa dks chek doj miyC/k djk;k 

tkrk gS 
(C) ,slk jkstxkj ftlesa deZpkfj;ksa dks fpfdRlk lqfo/kk,a miyC/k 

djkbZ tkrh gS 
(D) mi;qZDr lHkh 

36. The budget of the Corporation is approved by the ____: 
(A) Parliament (B) Central Government 
(C) Chairman, ESIC (D) Union Finance Ministry 

36. fuxe dk ctV-----------}kjk eatwj fd;k tkrk gSA 
(A) laln (B) dsUnzh; ljdkj 
(C) v/;{k] bZ,lvkbZlh (D) dsUnzh; foRr ea=ky; 

37. An appeal against the order of an Employees’ 
Insurance Court involving question of law may to be 
placed before ____: 
(A) Any Civil Court (B) High Court 
(C) State Government (D) ESI Corporation 

37. deZpkjh chek U;k;ky; ds fof/k laca/kh fdlh eqn~ns ij fn, x, vkns”k 
ds fo#)---------ds le{k vihy izLrqr dh tk ldrh gSA 
(A) dksbZ Hkh nhokuh vnkyr (B) mPp U;k;ky; 
(C) jkT; ljdkj (D) bZ,lvkbZ fuxe 

38. If the manufacturing process in a factory or 
establishment to which ESI Act applies ceases to be 
carried on with the aid of power the coverage of that 
factory or establishment _______: 
(A) Shall be decided by the State Government 
(B) Shall be decided by the ESI Corporation 
(C) Shall be decided by the Standing Committee. of ESIC 
(D) Shall continue to be governed by ESI Act 

38. ;fn fdlh QSDVªh vFkok izfr’Bku esa] ftl ij bZ,lvkbZ vf/kfu;e 
ykxw gksrk gS fofuekZ.k izfØ;k fo|qr dh lgk;rk ls dh tkuh can gks 
tkrh gS rks ,slh QSDVªh vFkok izfr’Bku dks “kkfey--------fd, tkus 
ds laca/k esaA 
(A) jkT; ljdkj }kjk fu.kZ; fy;k tk,xk 
(B) bZ,lvkbZ fuxe }kjk fu.kZ; fy;k tk,xk 
(C) bZ,lvkbZlh dh LFkk;h lfefr }kjk fu.kZ; fy;k tk,xk 
(D) bZ,lvkbZ vf/kfu;e }kjk “kkflr gksrh jgsxh 
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39. ESI Fund is held and administered by the ______: 
(A) Director General, ESIC 
(B) Financial Commissioner, ESIC 
(C) Standing Committee 
(D) ESI Corporation 

39. bZ,lvkbZ fuf/k-----------}kjk /kkfjr rFkk “kkflr dh tkrh gSA 
(A) egkfuns”kd] bZ,lvkbZlh 
(B) foRrh; vk;qDr] bZ,lvkbZlh 
(C) LFkk;h lfefr 
(D) bZ,lvkbZ fuxe 

40. A legal practitioner having ___ years standing is 
qualified to be a judge of the Employees’ Insurance 
Court: 
(A) 4 (B) 5 
(C) 6 (D) 8 

40. ----------o’kZ ds vuqHko ls ;qDr fof/kd O;kolkf;d deZpkjh chek 
U;k;ky; dk U;k;k/kh”k cuk, tkus ds ;ksX; gksrk gSA 
(A) 4 (B) 5 
(C) 6 (D) 8 

41. The provisions of ESI Act can be extended by the 
State Government in consultation with _____: 
(A) ESI Corporation 
(B) Chairman, ESI Corporation 
(C) Director General, ESI Corporation 
(D) None of the above 

41. bZ,lvkbZ vf/kfu;e ds izko/kku jkT; ljdkj }kjk---------ds lkFk 
ijke”kZ djds c<+k, tk ldrs gSaA 
(A) bZ,lvkbZ fuxe 
(B) v/;{k] bZ,lvkbZ fuxe 
(C) egkfuns”kd] bZ,lvkbZ fuxe 
(D) mi;qZDr esa ls dksbZ ugha 

42. The term of office of the Financial Commissioner shall 
not exceed __ years: 
(A) 3 (B) 4 
(C) 5 (D) 6 

42. foRrh; vk;qDr ds in dk dk;Zdky-----------o’kZ ls c<+dj ugha 
gksxkA 

(A) 3 (B) 4 
(C) 5 (D) 6 

43. Who constitutes the Employees’ Insurance Courts? 
(A) State Government (B) Central Government 
(C) ESI Corporation (D) High Courts 

43. deZpkjh chek U;k;ky;ksa dk xBu dkSu djrk gS\ 
(A) jkT; ljdkj (B) dsUnzh; ljdkj 
(C) bZ,lvkbZ fuxe (D) mPp U;k;ky; 

44. ESI Act provides certain benefits to employees in case 
of sickness, maternity and ______: 
(A) Accident (B) Temporary disablement 
(C) Permanent disablement (D) Employment injury 

44. bZ,lvkbZ vf/kfu;e deZpkfj;ksa dks #X.krk] izlwfr rFkk--------esa dqN 
ykHk iznku djrk gSA 
(A) nq?kZVuk (B) vLFkk;h vaxgkfu 
(C) LFkk;h vaxgkfu (D) jkstxkj pksV 

45. A person shall be disqualified for being chosen as or 
for being a member of the Standing Committee if he is 
declared to be of unsound mind by ______: 
(A) A competent medical professional 
(B) A medical institution recognized for the purpose by 

the Central Government 
(C) A competent court 
(D) Any of the above 

45. ,slk O;fDr LFkk;h lfefr dk lnL; pqus tkus vFkok cus jgus ds 
v;ksX; gks tk,xk ftls---------}kjk fof{kIr efLr’d dk /kksf’kr dj 
fn;k tkrk gSA 
(A) ,d l{ke fpfdRlk O;kolkf;d  
(B) dsUnzh; ljdkj }kjk bl iz;kstu ds fy, ekU; fpfdRlk laLFkku 
(C) ,d l{ke U;k;ky; 
(D) mi;qZDr esa ls dksbZ Hkh 

46. The amount paid as medical bonus is ____: 
(A) Rs.1000/- (B) Rs.2500/- 
(C) Rs.3000/- (D) Rs.5000/- 

46. fpfdRlk cksul ds :i esa iznRr jkf”k----------gksrh gSA 
(A) #i, 1000/- (B) #i, 2500/- 
(C) #i, 3000/- (D) #i, 5000/- 

47. The ceiling amount of Funeral Expenses is Rs. ____: 
(A) 5000/- (B) 7000/- 
(C) 9000/- (D) 10000/- 

47. vaR;sf’V dh vf/kdre jkf”k #--------gSA 

(A) 5000/- (B) 7000/- 
(C) 9000/- (D) 10000/- 

48. A member of Parliament, as a member of the 
Corporation, shall cease to be a member if: 
I. He becomes the Minister 
II. He becomes the Speaker of the House of People 
III. He ceases to be a Member of Parliament 
(A) (i) & (ii) (B) (ii) & (iii) 
(C) (iii) only (D) (i), (ii) & (iii) 

48. fuxe ds ,d lnL; ds :i esa laln lnL; ml fLFkfr esa lnL; ugha 
jgsxk ;fn% 
I. og ea=h cu tkrk gS 
II. og yksdlHkk dk v/;{k cu tkrk gS 
III. og laln lnL; ugha jgrk 
(A) (I) rFkk (II) (B) (II) rFkk (III) 
(C) dsoy (III) (D) (I) (II) rFkk (III) 
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49. Commutation of periodical payment is permissible 
where the daily rate of benefit does not exceed Rs. __ 
per day: 
(A) 4 (B) 5 
(C) 6 (D) 10 

49. vkof/kd Hkqxrku dk ljka”khdj.k ml fLFkfr esa vuqeR; gS tc ykHk 
dh nSfud nj #---------izfrfnu ls vf/kd u gksA 

(A) 4 (B) 5 
(C) 6 (D) 10 

50. The rate of contribution for providing medical benefit 
to insured persons who ceases to be in insurable 
employment on account of permanent disablement is 
___ per month: 
(A) Rs.10/- (B) Rs.20/- 
(C) Rs.50/- (D) Rs.100/- 

50. tks chekd`r O;fDr LFkk;h vaxgkfu ds dkj.k chek;ksX; jkstxkj esa 
ugha jgk gS] mls fpfdRlk ykHk igqapkus ds fy, va”knku dh nj------
izfrekg gSA 
(A) #i, 10/- (B) #i, 20/- 
(C) #i, 50/- (D) #i, 100/- 

51. While on tour, the officers drawing Grade Pay of ___ 
and above are entitled to travel in Business Class by 
Air: 
(A) Rs.7600 and above 
(B) Rs 8700 and above 
(C) Rs.8900 and above 
(D) Rs.10000 and above 

51. nkSjs ij jgrs le;---------;k blls mPprj xzsM osru ikus okys 
vf/kdkjh gokbZ tgkt }kjk fctusl Js.kh esa ;k=k djus ds gdnkj 
gSaA 
(A) #-7600 rFkk blls vf/kd  
(B) #-8700 rFkk blls vf/kd  
(C) #-8900 rFkk blls vf/kd  
(D) #-10000 rFkk blls vf/kd 

52. The principal amount of House Building Advance is 
repayable in ___ monthly installments: 
(A) 180 (B) 216 
(C) 240 (D) 300 

52. x`g fuekZ.k vfxze dk ewy/ku----------ekfld fdLrksa esa okfil fd;k 
tk ldrk gSA 

(A) 180 (B) 216 
(C) 240 (D) 300 

53. Which of the following is not treated as subletting of 
government quarters? 
(A) Sharing of accommodation by an allottee with another 

person with payment of licence fee by such other 
person 

(B) Sharing of accommodation by an allottee with another 
person without payment of licence fee by such other 
person 

(C) Sharing of accommodation with close relations 
(D) All of the above are treated as subletting of 

government quarters 

53. fuEu esa ls fdls ljdkjh DokVZj dks mi&fdjk, ij nsuk ugha le>k 
tkrk\ 
(A) xzkgh }kjk vU; O;fDr ds lkFk] ml O;fDr }kjk ykblsal Qhl 

dk Hkqxrku fd, tkus ij DokZVj dh fgLlsnkjh 
(B) xzkgh }kjk vU; O;fDr ds lkFk] ml O;fDr }kjk ykblsal Qhl 

dk Hkqxrku fd, fcuk DokZVj dh fgLlsnkjh 
(C) fudV lacaf/k;ksa ds lkFk DokVZj dh fgLlsnkjh 
(D) mi;qZDr lHkh ljdkjh DokVZjksa dks mi&fdjk, ij nsuk le>k 

tkrk gS 

54. Up to ___ of monthly pension can be commuted for a 
lump sum payment as commuted value of pension: 
(A) 25% (B) 30% 
(C) 40% (D) 50% 

54. isa”ku ds ljka”khd`r ewY; ds :i esa ,deq”r Hkqxrku ds fy, ekfld 
issa”ku---------rd ifjofrZr dh tk ldrh gSA 

(A) 25% (B) 30% 
(C) 40% (D) 50% 

55. For the grant of House Building Advance, the cost of 
the house should not exceed Rs. ___ lakhs: 
(A) 30 (B) 40 
(C) 50 (D) 60 

55. x`g fuekZ.k vfxze dh eatwjh ds fy, edku dh ykxr #------------
yk[k ls vf/kd ugha gksuh pkfg,A 

(A) 30 (B) 40 
(C) 50 (D) 60 

56. In case of retirement, an employee may be permitted 
to retain the quarters for the period of ___on payment 
of normal licence fee: 
(A) 2 months (B) 3 months 
(C) 4 months (D) 6 months 

56. lsokfuo`fRr gksus ij] deZpkjh dks lkekU; ykblsal Qhl dk Hkqxrku 
djus ij DokVZj---------vof/k rd j[kus dh vuqefr gksrh gSA 
(A) 2 eghus (B) 3 eghus 
(C) 4 eghus (D) 6 eghus 

57. The maximum amount of Gratuity payable on 
retirement is ____: 
(A) 6 lakh (B) 8 lakh 
(C) 10 lakh (D) 12 lakh 

57. lsokfuo`fRr ij ns; minku dh vf/kdre jkf”k #----------gksrh gSA 
(A) 6 yk[k (B) 8 yk[k 
(C) 10 yk[k (D) 12 yk[k 
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58. Government Servant whose Grade Pay does not 
exceed Rs.___ is eligible for Cycle Advance: 
(A) 1800 (B) 1900 
(C) 2400 (D) 2800 

58. ,slk ljdkjh deZpkjh] ftldk xzsM osru #------------ls vf/kd ugha 
gksrk lkbfdy vfxze ds fy, ik= gksrk gSA 

(A) 1800 (B) 1900 
(C) 2400 (D) 2800 

59. An SC / ST candidate to be selected on own merit 
shall be entitled to: 
(A) Relaxation in marks (B) Relaxation in experience 
(C) Concession in fee (D) None of the above 

59. viuh ;ksX;rk ds vk/kkj ij pqus tkus okyk ,llh@,lVh vH;FkhZ 
fuEu dk gdnkj gksxk% 
(A) vadksa esa NwV (B) vuqHko esa NwV 
(C) Qhl esa fj;k;r (D) mi;qZDr esa ls dksbZ ugha 

60. Interest is payable on the payment of DCRG if the 
payment is delayed beyond a period of ____ from the 
date of retirement: 
(A) One month (B) Two months 
(C) Three months (D) Four months 

60. Mhlhvkjth ds Hkqxrku ij ml fLFkfr esa C;kt ns; gksrk gS tc 
Hkqxrku lsokfuo`fRr dh rkjh[k ls------------ls vf/kd dh vof/k ds 
fy, foyafcr fd;k x;k gksA 
(A) ,d eghus (B) nks eghus 
(C) rhu eghus (D) pkj eghus 

61. Repayment of Personal Computer Advance is to be 
made in not more than ___ monthly installments: 
(A) 120 (B) 150 
(C) 180 (D) None of the above 

61. oS;fDrd daI;wVj vfxze dh okilh vf/kd ls vf/kd--------ekfld 
fdLrksa esa dh tkuh gksrh gSA 

(A) 120 (B) 150 
(C) 180 (D) mi;qZDr eas ls dksbZ ugha 

62. Meritorious Sportsmen can be appointed to: 
(A) Group B & C posts (B) Group C & D posts 
(C) Group B, C & D posts (D) Group A, B, C & D posts 

62. gksunkj f[kykfM+;ksa dks fuEu ij fu;qDr fd;k tk ldrk gS% 
(A) lewg ^[k* vkSj ^x* in (B) lewg ^x* vkSj ^?k* in 
(C) lewg [k] x vkSj ?k in (D) lewg d] [k] x vkSj ?k in 

63. Service Gratuity is admissible to a permanent employee 
who retires before completion of ___ of qualifying service: 
(A) 5 years (B) 10 years 
(C) 15 years (D) 20 years 

63. lsok minku ,sls LFkk;h deZpkjh ds fy, vuqeR; gksrk gS tks---------
---o’kZ dh vgZd lsok dh lekfIr ls iwoZ lsokfuo`Rr gks tkrk gSA 
(A) 5 o’kZ (B) 10 o’kZ 
(C) 15 o’kZ (D) 20 o’kZ 

64. Advance for purchase of Personal Computer for the 
second time is admissible after ___ years from the 
date of drawal of the earlier advance: 
(A) 3 (B) 4 
(C) 5 (D) 6 

64. nwljs ekSds ij oS;fDrd daI;wVj [kjhnus ds fy, vfxze] fiNys vfxze 
ds vkgj.k dh rkjh[k ls---------o’kksZa ds ckn vuqeR; gksrk gSA 

(A) 3 (B) 4 
(C) 5 (D) 6 

65. Special Casual Leave to a female employee when her 
husband undergoes vasectomy operation is 
admissible for ___: 
(A) One day (B) Two days 
(C) Three days (D) Not admissible 

65. efgyk deZpkjh ds fy,] tc mldk ifr ulcanh dk vkijs”ku djkrk 
gS--------fnu dk fo”ks’k vkdfLed vodk”k vuqeR; gksrk gSA 
(A) ,d fnu (B) nks fnu 
(C) rhu fnu (D) vuqeR; ugha gS 

66. Full pension is admissible to an employee retiring 
with minimum qualifying service of not less than ___: 
(A) 10 years (B) 15 years 
(C) 20 years (D) 33 years 

66. ,sls deZpkjh dks iwjh isa”ku vuqeR; gksrh gS tks de ls de --------- 
o’kZ dh U;wure vgZd lsok lfgr lsokfuo`Rr gksrk gSA 
(A) 10 o’kZ (B) 15 o’kZ 
(C) 20 o’kZ (D) 33 o’kZ 

67. Which of the following statements is correct? 
The amount of motor car advance on first occasion is 
restricted to ______ whichever is the least 

(A) Rs.1,60,000/- or eight months pay in the pay band or 
the price of the car 

(B) Rs. 1,60,000/- or six months pay in the pay band or 
the price of the car 

(C) Rs.1,80,000/- or six months pay in the pay band or 
the price of the car 

(D) Rs.1,80,000/- or eight months pay in the pay band or 
the price of the car 

67. fuEu esa ls dkSulk dFku lgh gS\ 
igys ekSds ij eksVjdkj vfxze-----------rd] buesa ls tks Hkh U;wure 
gks lhfer j[kk tkrk gS% 
(A) #-160000 vFkok osru cSaM esa vkB eghus dk osru vFkok dkj 

dk ewY; 
(B) #-160000 vFkok osru cSaM esa N% eghus dk osru vFkok dkj 

dk ewY; 
(C) #-180000 vFkok osru cSaM esa N% eghus dk osru vFkok dkj 

dk ewY; 
(D) #-180000 vFkok osru cSaM esa vkB eghus dk osru vFkok dkj 

dk ewY; 
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68. A Government Servant is not entitled to any leave 
salary during ____: 
(A) Half Pay Leave (B) Leave Not Due 
(C) Extra Ordinary Leave (D) All of the above 

68. ljdkjh deZpkjh----------ds nkSjku NqV~Vh osru dk gdnkj ugha gksrkA 
(A) v)Zosru NqV~Vh (B) vtZu”kks/; NqV~Vh 
(C) vlk/kkj.k NqV~Vh (D) mi;qZDr lHkh 

69. Which of the following is a class of Pension? 
(A) Invalid Pension 
(B) Compensation Pension 
(C) Compassionate Allowance 
(D) All of the above 

69. fuEu esa ls dkSu isa”ku dh ,d Js.kh gS\ 
(A) vleFkZrk isa”ku 
(B) izfriwfrZ isa”ku 
(C) vuqdaik HkRrk 
(D) mi;qZDr lHkh 

70. For grant of advance for purchase of motor car ___: 
(A) Prior permission is necessary under the Conduct Rules 
(B) Only intimation is necessary under the Conduct Rules 
(C) Prior permission or intimation is necessary under the 

Conduct Rules 
(D) Since the advance is being obtained from the 

Government, neither permission nor intimation is 
necessary under the Conduct Rules 

70. eksVjdkj [kjhnus ds fy, vfxze dh eatwjh ds okLrs% 
(A) vkpj.k fu;ekoyh ds v/khu iwoZ&vuqefr t:jh gS 
(B) vkpj.k fu;ekoyh ds v/khu dsoy lwpuk nsuh t:jh gS 
(C) vkpj.k fu;ekoyh ds v/khu iwoZ&vuqefr vFkok lwpuk t:jh gS 
(D) D;ksafd vfxze ljdkj ls fy;k tk jgk gS] vkpj.k fu;ekoyh ds 

fy, u vuqefr t:jh gS u lwpuk 

71. Maternity leave during abortion is admissible up to 
___ surviving children: 
(A) One 
(B) Two 
(C) More than two incase of multiple birth on second delivery 
(D) Irrespective of number of surviving children 

71. xHkZikr ds nkSjku izlwfr NqV~Vh------------thfor f”k”kqvksa rd vuqeR; 
gSA 
(A) ,d 
(B) nks 
(C) nwljs izlo ij cgqf”k”kqvksa dk tUe gksus ij nks ls vf/kd 
(D) pkgs thfor f”k”kq fdrus Hkh gksa 

72. Which of the following is included in ‘Emoluments’ for 
the purpose of pension? 
(A) Personal Pay 
(B) Deputation (Duty) Allowance 
(C) Non-Practicing Allowance 
(D) All of the above 

72. isa”ku ds iz;kstu ds fy, fuEu esa ls dkSu ^ifjyfC/k;ksa* esa “kkfey gS\ 
(A) oS;fDrd osru 
(B) izfrfu;qfDr ¼M~;wVh½ HkRrk 
(C) xSj&izSfDVl HkRrk 
(D) mi;qZDr lHkh 

73. The rate of Festival Advance is to be increased by 
25% whenever the Dearness Allowance payable on 
revised pay structure goes up by ___: 
(A) 25% (B) 30% 
(C) 40% (D) 50% 

73. tc dHkh la”kksf/kr osru lajpuk esa ns; egaxkbZ HkRrk-------rd c<+ 
tkrk gS] R;ksgkj vfxze dh nj 25% c<+kbZ tkuh gksrh gSA 

(A) 25% (B) 30% 
(C) 40% (D) 50% 

74. Subsistence Allowance is to be paid to the suspended 
official on furnishing a certificate by him every month 
_____: 
(A) That he has done nothing that is a misconduct under 

the Conduct Rules 
(B) That he was not engaged in any other profession 
(C) That he has not been under the police custody 
(D) All of the above 

74. fuyafcr deZpkjh dks fuokZg HkRrs dk Hkqxrku rc fd;k tkrk gS tc 
og izfrekg-----------vk”k; dk izek.k&i= is”k djrk gSA 
(A) fd mlus ,slk dqN ugha fd;k gS tks vkpj.k fu;ekoyh ds 

v/khu dnkpkj gks 
(B) fd og fdlh O;olk; esa yxk gqvk ugha Fkk 
(C) fd og iqfyl dh fgjklr esa ugha jgk gS 
(D) mi;qZDr lHkh 

75. Which of the following statements is not correct? 
When a Government Servant applies for a post in 
another department through proper channel and on 
selection he is asked to resign the previous post for 
administrative reasons, 
(A) The resignation is termed as Technical Resignation 
(B) The benefit of fixation of pay will be allowed 
(C) Leave at credit will not be carried forward 
(D) All are correct 

75. fuEu esa ls dkSulk dFku lgh ugha gS\ 
tc dksbZ ljdkjh deZpkjh mfpr ek/;e ls fdlh vU; foHkkx esa 
fdlh in ds vkosnu djrk gS vkSj pquko gksus ij mls iz”kklfud 
dkj.kksa ls vius iwoZ in ls R;kxi= nsus dks dgk tkrk gS% 
(A) R;kxi= dks rduhdh R;kxi= le>k tkrk gS 
(B) osru ds fu/kkZj.k dk ykHk iznku fd;k tk,xk 
(C) tek NqV~Vh vxzsuhr ugha dh tk,xh 
(D) lHkh lgh gS 
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76. Total recoveries on account of all advances taken by a 
government servant shall not exceed ___ of the total 
emoluments: 
(A) 25% (B) 30% 
(C) 40% (D) 50% 

76. ljdkjh deZpkjh }kjk fy, x, lHkh vfxzeksa ds dkj.k dh tkus okyh 
dqy olwfy;ka] dqy ifjyfC/k;ksa ds--------ls c<+dj ugha gksaxhA 

(A) 25% (B) 30% 
(C) 40% (D) 50% 

77. Suspension shall not be valid after 90 days if it is not 
extended within ___ days: 
(A) 45 (B) 65 
(C) 75 (D) 90 

77. fuyacu 90 fnu ds ckn oS/k ugha gksxk ;fn og------------fnuksa ds 
Hkhrj c<+k ugha fn;k tkrk gSA 

(A) 45 (B) 65 
(C) 75 (D) 90 

78. In case of voluntary retirement, a notice of ____ is to 
be given to the Appointing Authority: 
(A) One month (B) Two months 
(C) Three months (D) Six months 

78. LoSfPNd lsokfuo`fRr ds ekeys esa fu;ksDrk izkf/kdkjh dks----------dk 
uksfVl fn;k tkuk gksrk gSA 
(A) ,d eghuk (B) nks eghus 
(C) rhu eghus (D) N% eghus 

79. The amount of personal computer advance admissible 
is restricted to Rs._____: 
(A) 30000 (B) 35000 
(C) 28000 (D) 32000 

79. oS;fDrd daI;wVj vfxze dh vuqeR; jkf”k #---------rd lhfer j[kh 
tkrh gSA 

(A) 30000 (B) 35000 
(C) 28000 (D) 32000 

80. An appeal against the order of suspension can be 
preferred within ___ days of the receipt of the Charge 
sheet: 
(A) 15 (B) 30 
(C) 45 (D) 60 

80. fuyacu ds vkns”k ds fo#) vihy vkjksi&i= dh izkfIr ds-------fnu 
ds Hkhrj dh tk ldrh gSA 

(A) 15 (B) 30 
(C) 45 (D) 60 

81. The rate of interest on GPF during 2012-13 is ___: 
(A) 8% (B) 8.6% 
(C) 8.8% (D) 9% 

81. 2012-13 ds nkSjku thih,Q ij C;kt dh nj----------gSA 

(A) 8% (B) 8.6% 
(C) 8.8% (D) 9% 

82. Which of the following statements is not correct 
regarding Festival Advance? 
(A) Officials on maternity leave are eligible 
(B) Officials under suspension are eligible 
(C) Admissible only once in a financial year 
(D) All are correct 

82. R;ksgkj vfxze ds laca/k esa fuEu esa ls dkSulk dFku lgh ugha gS\ 
(A) izlwfr NqV~Vh dk ykHk mBk jgs deZpkjh ik= gSa 
(B) fuyacuk/khu deZpkjh ik= gSa 
(C) ,d foRrh; o’kZ esa dsoy ,d ckj vuqeR; gS 
(D) lHkh lgh gS 

83. Sealed cover procedure cannot be resorted to by the 
Review Departmental Promotion Committee if ____: 
(A) No departmental proceedings were pending against 

the Government Servant at the time of meeting of the 
original Departmental Promotion Committee 

(B) He was not under suspension at the time of meeting 
of the original Departmental Promotion Committee 

(C) He was not under suspension before promotion of his 
junior on the basis of the recommendations of the 
original Department Promotion Committee 

(D) All of the above 

83. iqujh{kk foHkkxh; inksUufr lfefr }kjk eqgjcan fyQkQk fØ;kfof/k dk 
lgkjk ugha fy;k tk ldrk ;fn------- 
(A) ewy foHkkxh; inksUufr lfefr dh cSBd ds le; ljdkjh 

deZpkjh ds fo#) dksbZ Hkh foHkkxh; dk;Zokgh yafcr ugha Fkh 
(B) ewy foHkkxh; inksUufr lefr dh cSBd ds le; og fuyafcr 

ugha Fkk 
(C) ewy foHkkxh; inksUufr lfefr dh flQkfj”k ds vk/kkj ij mlds 

dfu’B dh inksUufr ls iwoZ og fuyafcr ugha Fkk 
(D) mi;qZDr lHkh 

84. Which of the following statements is correct? 
(A) Subscription towards GPF may be increased twice 

during the year 
(B) Subscription towards GPF may be reduced once 

during the year 
(C) Subscription towards GPF shall be stopped during 

suspension 
(D) All are correct 

84. fuEu esa ls dkSulk dFku lgh gS\ 
(A) thih,Q ds fy, va”knku o’kZ esa nks ckj c<+k;k tk ldrk gS 
(B) thih,Q ds fy, va”knku o’kZ esa ,d ckj ?kVk;k tk ldrk gS 
(C) fuyacu ds nkSjku thih,Q ds fy, va”knku can dj fn;k tk,xk 
(D) lHkh lgh gS 
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85. The continuous service of at least ___ years is 
required for grant of House Building Advance: 
(A) 8 
(B) 10 
(C) 12 
(D) 15 

85. x`g fuekZ.k vfxze dh eatwjh ds fy, de ls de------------o’kksZa dh 
fufoZ?u lsok gksuh t:jh gSA  

(A) 8 
(B) 10 
(C) 12 
(D) 15 

86. The number of cities classified as Class ‘X’ is ___: 
(A) 4 
(B) 5 
(C) 6 
(D) 8 

86. Js.kh ‘X’ ds :i esa oxhZd`r “kgjksa dh la[;k-----------gSA 

(A) 4 
(B) 5 
(C) 6 
(D) 8 

87. The subscription to GPF in respect of a Government 
Servant should be fixed as per the emoluments on the 
____: 
(A) 31st March of the preceding year 
(B) Last working day of the preceding month 
(C) Last working day of the month for which the 

subscription is to be fixed 
(D) None of the above 

87. ljdkjh lsod }kjk thih,Q esa va”knku-----------dks mldh 
ifjyfC/k;ksa ds vuqlkj r; fd;k tk,xkA 
(A) fiNys o’kZ dh 31 ekpZ 
(B) fiNys eghus dk vafre dk;Zfnol 
(C) ftl eghus ds fy, va”knku r; fd;k tkuk gS mlds vafre 

dk;Zfnol 
(D) mi;qZDr esa ls dksbZ ugha 

88. The maximum number of installments for repayment 
of scooter advance is ___: 
(A) 65 (B) 70 
(C) 80 (D) 85 

88. LdwVj vfxze dh okilh ds fy, fdLrksa dh vf/kdre la[;k ---------
gSA 

(A) 65 (B) 70 
(C) 80 (D) 85 

89. Out of the following Dearness Allowance is not 
payable on: 
(A) Pay 
(B) Grade Pay 
(C) House Rent Allowance 
(D) Transport Allowance 

89. fuEu ls] fuEu ij egaxkbZ HkRrk ns; ugha gS% 
(A) osru 
(B) xzsM osru 
(C) edku fdjk;k HkRrk 
(D) ifjogu HkRrk 

90. Which of the following statements is not correct? 
(A) The GPF Rules are applicable to those Central 

Government employees who have been appointed on 
or before 01.01.2004 

(B) The minimum amount of subscription to GPF is 6% of 
emoluments 

(C) Emoluments do not include Dearness Allowance 
(D) All are correct 

90. fuEu esa ls dkSulk dFku lgh ugha gS\ 
(A) thih,Q fu;e dsoy ,sls dsUnzh; ljdkjh deZpkfj;ksa ij ykxw gSa 

ftudh fu;qfDr 1.1.2004 dks ;k blls iwoZ gqbZ gS 
(B) thih,Q esa va”knku dh U;wure jkf”k ifjyfC/k;ksa dk 6% gS 
(C) ifjyfC/k;ksa eas egaxkbZ HkRrk “kkfey ugha gS 
(D) lHkh lgh gS 

91. Government servant drawing pay in the pay band Rs. 
___ or more are eligible for grant of personal 
computer advance: 
(A) 9060 
(B) 7800 
(C) 9560 
(D) 8560 

91. #------------;k blls mPprj osru cSaM esa osru ikus okys ljdkjh 
deZpkjh oS;fDrd daI;wVj vfxze eatwj fd, tkus ds ik= gSaA 

(A) 9060 
(B) 7800 
(C) 9560 
(D) 8560 

92. Prior permission / sanction of the prescribed authority 
is not necessary in the case of: 
(A) To accept international awards 
(B) To accept fee for work done for any public body 
(C) To become member of Samyuktha Sadhachar Samiti 
(D) None of the above 

92. fuEu ekeys esa fu/kkZfjr izkf/kdkjh dh iwoZ&vuqefr@eatwjh t:jh ugha 
gS% 
(A) varjkZ’Vªh; iqjLdkj Lohdkj djuk 
(B) fdlh ljdkjh fudk; ds fy, fd, x, dk;Z ds okLrs Qhl 

Lohdkj djuk 
(C) la;qDr lnkpkj lfefr dk lnL; cuuk 
(D) mi;qZDr esa ls dksbZ ugha 
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93. Which of the following is not correct? 
(A) LTC can be combined with transfer 
(B) LTC can be combined with tour 
(C) Employees entitled to LTC to Home Town for self 

alone every year can carry forward the concession 
(D) All are correct 

93. fuEu esa ls dkSulk dFku lgh ugha gS\ 
(A) ,yVhlh dks LFkkukarj.k ds lkFk tksM+k tk ldrk gS 
(B) ,yVhlh dks nkSjs ds lkFk tksM+k tk ldrk gS 
(C) tks deZpkjh dsoy vius fy, izfro’kZ x`guxj ds okLrs ,yVhlh 

ds gdnkj gSa] os bl fj;k;r dks vxzsuhr dj ldrs gSa 
(D) lHkh lgh gS 

94. The maximum amount of advance that can be 
sanctioned for purchase of personal computer is: 
(A) Rs.25000/- 
(B) Rs.35000/- 
(C) Rs.30000/- 
(D) Rs.40000/- 

94. oS;fDrd daI;wVj [kjhnus ds fy, eatwj fd, tk ldus okys vfxze dh 
vf/kdre jkf”k gS% 
(A) #i, 25000/- 
(B) #i, 35000/- 
(C) #i, 30000/- 
(D) #i, 40000/- 

95. Reimbursement of Children Education Allowance can 
be claimed ____: 
(A) Monthly 
(B) Bi monthly 
(C) Quarterly 
(D) None of the above 

95. cky f”k{kk HkRrs dh izfriwfrZ dk nkok----------vk/kkj ij fd;k tk 
ldrk gSA 
(A) ekfld 
(B) f}ekfld 
(C) frekgh 
(D) mi;qZDr esa ls dksbZ ugaha 

96. Leave Travel Concession (LTC) is not admissible 
during__: 
I. Study Leave 
II. Special Casual Leave 
III. Child Care Leave 

(A) (I) & (III) (B) (II) & (III) 
(C) (i) & (II) (D) (III) 

96. NqV~Vh ;k=k fj;k;r ¼,yVhlh½-----------------ds nkSjku vuqeR; ugha 
gSA 
I. v/;;u NqV~Vh 
II. fo”ks’k vkdfLed vodk”k 
III. cky ns[kHkky NqV~Vh 

(A) (I) vkSj (III) (B) (II) rFkk (III) 
(C) (I) rFkk (II) (D) (III) 

97. Non Gazetted employees drawing grade pay not 
exceeding Rs. ___ are eligible for grant of festival 
advance: 
(A) 4200/- 
(B) 2800/- 
(C) 4600/- 
(D) 4800/- 

97. tks vjktif=r deZpkjh #-------------ls de xzsM osru izkIr dj jgs 
gSa] os R;ksgkj vfxze eatwj fd, tkus ds ik= gSaA 

(A) 4200/- 
(B) 2800/- 
(C) 4600/- 
(D) 4800/- 

98. The minimum age limit for reimbursement of Children 
Education Allowance in respect of a child is ____: 
(A) 3 years 
(B) 5 years 
(C) 4 years 
(D) No minimum age for any child 

98. cPps ds laca/k esa cky f”k{k.k HkRrs dh izfriwfrZ ds iz;kstu ls U;wure 
vk;qlhek--------gSA 
(A) 3 o’kZ 
(B) 5 o’kZ 
(C) 4 o’kZ 
(D) cPps ds fy, dksbZ U;wure vk;q ugha 

99. In the case of transfer of a Government Servant, if 
change of residence is involved and distance between 
the old and new Headquarters is 1000km or less, 
joining time of __ days is admissible: 
(A) 10 (B) 12 
(C) 15 (D) 20 

99. ljdkjh deZpkjh ds LFkkukarj.k ds ekeys esa ;fn vkokl cnyk tkuk 
gS vkSj iqjkus rFkk u, eq[;ky; ds chp dh nwjh 1000 fdyksehVj ;k 
mlls de gS rks---------fnu dk dk;ZHkkj le; vuqeR; gSA 

(A) 10 (B) 12 
(C) 15 (D) 20 

100. Which of the following is a interest free advance? 
(A) Advance for purchase of conveyance 
(B) Advance in connection with legal proceedings 
(C) Advance for purchase of personal computer 
(D) Advance for purchase of house 

100. fuEu eas ls dkSulk C;kteqDr vfxze gS\ 
(A) okgu [kjhnus ds fy, vfxze 
(B) dkuwuh dk;Zokfg;ksa ls lacaf/kr vfxze 
(C) oS;fDrd daI;wVj [kjhnus ds fy, vfxze 
(D) edku [kjhnus ds fy, vfxze 

 



 

bl iqfLrdk ij dqN Hkh fy[kus ls igys  
fuEufyf[kr funsZ'k /;kuiwoZd i<+sa 

1. viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä 
ç”uksa dh la[;k bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ 
deh gks rks i;Zos{kd dks lwfpr djsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd 
vkidks lgh fo|k'kk[kk iqfLrdk feyh gSA 

2. viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- ¼OMR½ la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys 
ckWy Iokb±V isu ls HkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,A 

3. ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad ¼A½ ls ¼D½ rd pkj çLrkfor mÙkj fn;s 
gSaA vkids fopkj esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk 
esa u yxk,A 

4. lHkh ç”u vfuok;Z gSaA 
5. mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 
6. mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk 

dks [kjkc djus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh 
vH;FkÊ ij gksxhA 

7. jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA 
8. gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k 

tk,xkA mÙkj esa dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA 
fgUnh laLdj.k esa fdlh Hkh fHkérk gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA 

9. dsYdqysVj] LykbM:y] eksckbZy]  dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ 
lkexzh vkfn dk ç;ksx ijh{kk d{k esa oftZr gSA 

10. ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk 
d{k ls ckgj ys tkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSA 

 


